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INSTRUCTIONS AND INFORMATION
1. This question paper consists of FIVE questions. Answer ALL the questions.
2. Use the ANNEXURES in the ADDENDUM to answer the following questions:

ANNEXURE A for QUESTION 3.1
ANNEXURE B for QUESTION 4.1
ANNEXURE C for QUESTION 4.2
ANNEXURE D for QUESTION 4.3
ANNEXURE E for QUESTION 4.3
ANNEXURE F for QUESTION 5.2
ANNEXURE G for QUESTION 5.3

3. Number your answers correctly according to the numbering system used in this question paper.
4. Start EACH question on a NEW page.

5. An approved calculator (non-programmable and non-graphical) may be used, unless stated
otherwise.

6. Show ALL calculations clearly.

7. Round-off ALL final answers appropriately according to the given context, unless stated
otherwise.
8. Indicate units of measurement, where applicable.

9. Write neatly and legibly.

P.T.O.
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QUESTION 1
1.1 Sally Harley, a marketing executive, works from Mondays to Fridays from 07:00 to
15:00 at the Johannesburg Zoo, where she promotes the Joburg Zoo.
Her salary advice for the month of July 2024 is displayed below.
SALARY ADVICE
JHB Zoo
Jan Smuts Avenue
Parkview
Johannesburg
Employment date: 2018-06-23 Employee's Name: Sally Harley
Pay period: 2024-07-31 ID Number: 9206304998076
Worked days: 26 Designation: Marketing Executive
Department: Marketing
INCOME AMOUNT DEDUCTIONS |AMOUNT
Basic salary R18 500 Provident fund R1 200
Travelling allowance R2 500 PAYE R2 186,78
Housing rental allowance R3 000 Medical aid R1 390
Meal allowance R2 100
Gross income R26 100 Total deductions A
Nett Salary B
Use the information above to answer the questions that follow.
1.1.1 Define the term gross income in context. (2)
1.1.2 Write down the gross income amount in words. (2)
1.1.3 Provide the month in which the salary advice was issued. (2)
1.1.4 Determine the missing values of A and B. 4)
1.1.5 Determine Sally's age, in years and months, on the date that she receives this
payment. (2)
1.1.6 Write down the term PAYE in full. (2)

P.T.O.
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Sally is planning to visit her family in Sweden during December to experience a white
Christmas. She decided to save up her travel and meal allowances for one year to ensure
that she will have enough money for meals, transportation, and entertainment. The
current exchange rate is 1,82 ZAR (South African Rand) for 1 SEK (Swedish Krona)

Use the information above to answer the questions that follow.

1.2.1 Between the two countries, which currency is stronger? (2)
1.2.2 Convert 28 573 South African Rand to Swedish Krona. (2)
The table below contains a list of explanations and definitions of concepts used in

Mathematical Literacy. Match the word(s) given with the appropriate description from the

table. Write only the correct letter (A—G) next to the question numbers (1.3.1 to 1.3.4) e.g.

1.3.5H

Table 1: Definitions of concepts

A | The set of data includes all values

B | A company that collects taxes on behalf of the government

C | The sum of all values divided by the number of values

D | The number that appears the most in a set of data

E | A table that is used to calculate personal income tax for individuals

F | This set of data contains whole numbers only.

G | The number in the middle, after an odd data set is arranged in chronological

order

1.3.1 Median (2)
1.3.2 SARS (2)
1.3.3 Mode (2)
1.3.4 Discrete data (2)

P.T.O.
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1.4 Below is a graph that represents the level of performance of the learners from Jabulani Secondary
School for the last test that was done at the beginning of August 2024.

The performance is represented by levels 1 to 7.

Gr 12 Last Mathematical Literacy Test 2024

50
45
40
35
30
. 24

20

Number of learners

15

10

m Level of performance

Level 1:0-29%
Level 2 :30-39%
Level 3 : 40 —49%
Level 4 : 50 — 59%
Level 5: 60 —69%
Level 6 : 70 — 79%
Level 7 : 80 — 100%

1.4.1  Identify the type of graph that is used to represent this data. 2)

1.4.2  Determine the level where no learner achieved. 2)
[30]

P.T.O.
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QUESTION 2

2.1 Mr and Mrs De Klerk plan to renew their wedding vows at the Ennyani wedding venue.
They are comparing the costs of a weekday and a weekend package. They plan to invite
42 couples and 12 single people. (The singles include Mr De Klerk’s mother and

Mrs De Klerk’s father, who are retired and over 65 years old, 4 children under the age of
5, and 6 children above 5 years old). The table below indicates the prices for the Ennyani
wedding venue on Monday to Thursday and on a Saturday and Sunday.

Table 2: Extract from a budget for a wedding venue

Days of the week
Saturday Sunday Monday — Thursday
Venue hire R15 650 R13 450 RO
Price per person R 432 R432 R515
Minimum number of guests 50 40 40
Maximum number of guests 100 100 100

[Adapted from Attps://www.ennyani.co.za/wedding-venues/calculator|

NOTE:
# All prices include 15% VAT.

# Children under the age of 5 pay 25% of the price per person as they do not eat as much.

# Children above the age of 5 pay full price.
# Pensioners above the age of 65 pay 60% of the price per person.

# If a person cancels the venue more than a month in advance, they receive 85% of the
venue hire cost back and 90% of the price paid per person.

# If a person cancels the venue less than a month in advance, they receive 60% of the
venue hire cost back and 78% of the price paid per person.

Use the information above to answer the questions that follow.
2.1.1  Calculate the price per person, excluding VAT, for a Saturday. (2)

2.1.2 Mr and Mrs De Klerk decided to have their wedding on a Thursday instead
of on a Saturday, to save money.

(a) Determine the amount the family would have saved on the total cost
of the reception, including VAT. (10)

(b)  Hence, calculate the refund that Mr and Mrs De Klerk would receive
if they cancelled their wedding more than a month in advance. 3)

P.T.O.
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ANNEXURE A
QUESTION 3.1

The population of South Africa's nine provinces

[Source: https://southafrica-info.com/infographics/infographic-population-south-africas-nine-provinces/|

P.T.O.
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2023/2024 Annual income tax deductions for individuals and special trusts

Taxable income (R)

Rates of tax (R)

1 -237100

18% of taxable income

237 101 - 370 500

42 678 + 26% of taxable income above 237 100

370 501 — 512 800

77 362 + 31% of taxable income above 370 500

512 801 - 673 000

121 475 + 36% of taxable income above 512 800

673 001 — 857 900

179 147 + 39% of taxable income above 673 000

857901 — 1 817 000

251 258 + 41% of taxable income above 857 900

1 817 001 and above

644 489 + 45% of taxable income above 1 817 000

Tax Rebate Tax year
2024 2023 2022
Primary R17 235 R16 425 R15 714
Secondary (65 and older) R9 444 R9 000 R8 613
Tertiary (75 and older) R3 145 R2 997 R2 871
Tax Thresholds Tax year
2024 2023 2022
Under 65 R95 750 R91 250 R87 300
65 and older R148 217 R141 250 R135 150
75 and older R165 689 R157 900 R151 100
Medical Tax Credit Tax year
Per month (R) 2024 2023 2022
For the taxpayer R728 R694 R664
For the first dependant R728 R694 R664
For each additional dependant R246 R234 R224

[Source: Adapted from https:/www.SARS.gov.za]

P.T.O.
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ANNEXURE C
QUESTION 4.2
Box-and-whisker diagram of the weight of male and female
workers at Box Fashion
MALES

R~

Ra|

=

4|

&)

FEMALES

ACTUAL WEIGHT (in kg)
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ANNEXURE D
QUESTION 4.3
Statement of Account/Tax Invoice
P O BOX 8296 2ND FLOOR
Standard Bank JOHANNESBURG 2000 33 BAKER STREET
0860 000 000 ROSEBANK
Statement Details
MR PHILLIP TSHABALALA  Page 1 of2
66 THE HIGHWAY Date 05/01/2024
FLORIDA Statement Period 05/12/2023 to
1712 04/01/2024
Agreement Number 0000795381/1
NCA Reg No. NGRCP15
VAT Registration No. 4100095461
Payment Information
Principal Debt R269 439,15
Instalment A
Service Fee *R69,00
LPI/Other Charges R0,00
Total Arrears 0,00
Advance 0,00
Payable On 20/01/2024
Goods Description RENAULT KIGER 1.0T ZEN 2021
Contract Period 60 Months
Pay Frequency Monthly
Period to Expiry 59 Months
Interest Rate 13,45% per year
Balloon/Residual RO
Total balance brought forward R450 636,98
Total balance carried forward R443 057,36
Total Paid to Date R7 579,62

*These items are inclusive of 15% VAT
*Before 2019 VAT was 14%

Look out for some exciting developments — you'll soon be able to conveniently manage your VAF
account on the Standard Bank App. In the meanwhile, you can contact 0860 000 000 or email
HomeNCar@standardbank.co.za for all VAF related queries.

P.T.O.
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ANNEXURE E
QUESTION 4.3
Statement of Account/Tax Invoice
P O BOX 8296 2P FLOOR
Standard Bank JOHANNESBURG 2000 33 BAKER STREET
0860 000 000 ROSEBANK
Statement Details
MR PHILLIP TSHABALALA Page 20f2
66 THE HIGHWAY Date 05/01/2024
FLORIDA Statement Period 05/12/2023 to
1712 04/01/2024
Agreement Number 0000795381/1
NCA Reg No. NGRCP15
VAT Registration No. 4100095461
Invoice No: 999/24/1357566 Agreement: 0000795381/1
Transaction de
Date Reference Amount Outstanding Total Balance
Balance brought forward R450 636,98
20/12/2023 Receipt R443 126,36
20/12/2023 Service Fee *R69,00 R443 057,36
Balance Carried Forward R443 057,36

*These items are inclusive of 15% VAT

P.T.O.
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ANNEXURE F

QUESTION 5.2

GLOBAL GOLD PRODUCTION

2023 GLOBAL GOLD PRODUCTION FOR VARIOUS COUNTRIES
(GIVEN IN TONNES)

[Source: www.google.com/search?sca_esv=bc4b5e46aeabl3ae&q=gold+production&tbm=isch&source=Inms&sa=
X&ved=2ahUKEwi6r97 _ncyEAxVYaEEAHdcYAOwQOpQJegQIDRAB&biw=1920&bih=960#imgrc=FQ2TVNvAI2R _M]

P.T.O.
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ANNEXURE G
QUESTION 5.3
Resting Heart Rates According to Ages
E
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(c) Determine the percentage, rounded to the nearest ten, the family
would save if they were having the wedding on a Thursday.

The following formula can be used:
% savings =

2.1.3  Provide a reason why the venue is more cost effective during the week than
over the weekends.

Ennyani wedding venue is situated in Krugersdorp, which falls under the Mogale
City Municipality. Mogale City Municipality has two tariff structures that they use

Saturday cost

Savings

100

to calculate the cost of water consumption. In Table 3 below the two tariffs are

given; one is a normal rate when there is a sufficient supply of water, and the other

is an increased rate during times where there is a water shortage.

Table 3: Water Tariff Structure for Mogale City

Water consumption

Normal rate
R/Kl
(Including VAT)

Water shortage rate
R/Kl
(Including VAT)

0-60Kkl

R18,12

R29,93

61 —150kl

R29,86

R52,44

151 —300 kl

R36,58

R89,00

301 —450kl

R45,52

R114,44

> 451 kl

R56,12

R179,47

[Adapted from https://www.ekurhuleni.gov.za/for-me/tariffs/

2.2.1  Ennyani wedding venue consumes an average of 971 kl of water per
month. The manager at the Ennyani wedding venue states that they pay
more than R150 000 when there are water shortages.

Verify, showing ALL calculations, whether his statement is correct.

2.2.2  Why is a sliding scale used when the cost related to water usage is

calculated?

2.2.3  Determine the probability, as a decimal fraction, that there is a rate lower

than R30 per kilolitre during normal water distribution.

€)

2)

(6)

2)

3)
[31]

P.T.O.
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QUESTION 3
3.1 Study ANNEXURE A to answer the questions that follow.

3.1.1  Identify the province with the largest population.

3.1.2  Show that the total population of South Africa is 56 522 000.
3.1.3  Show how the population percentage for Mpumalanga was calculated.
3.1.4  Neesah looked at the percentages and stated that there are two provinces with the

same percentages, but with a different number of people for the provinces in
terms of their population. Identify the TWO provinces and determine the
population difference. Explain why the percentages can be the same but the
population numbers are different.

3.2 The following two tables show the results for Grade 12 learners for their June
Examination in Mathematical Literacy (Paper 1). Study the tables and answer the
questions that follow.

The results are given as a total out of 100.

Table 4: Class A

34 84 22 34 65 49 33 37 45 56
32 69 52 43 34 48 88 92 35 46
72 75 26 38 42 34 83 79 30 28

Table 5: Class B

24 46 85 32 30 67 51 89 73 44
26 21 66 49 A 54 36 92 20 48

33 39 43 31 25 69 78 81 18 60
3.2.1 Is this an example of DISCRETE or CONTINUOUS data?
3.2.2  Determine the median for Class A.

3.2.3  Calculate the value of A for Class B if the mean 1s 48,53.

3.3 In a kickboxing class the learners were measured, and their heights (in metres) were
recorded as follows:

Table 6: Height (in m)

1,44 1,85 1,62 1,48 1,23
0,88 1,38 1,82 2,04 0,82
1,75

Bruce Lee stated that the range height for this set of data is more than double the height of
the shortest learner. Show, by means of calculations, whether his statement is correct.

2)
2)
3)

(4)

2)
3)
(4)

(5)

[25]
P.T.O.
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QUESTION 4

4.1

4.2

Mr Tshabalala is a 32-year-old man that works for Box Fashion. He oversees the
packaging of the boxes that must be distributed to customers. He receives a monthly gross
income of R 32 542,80. He contributes 7,5% towards his pension fund. Mr Tshabalala is
married and has 4 children. He contributes towards a medical aid for himself and his
family.

Refer to ANNEXURE B, Annual income tax deductions for individuals and special trusts.

Use the information above and ANNEXURE B to answer the questions that follow.

4.1.1

4.1.5

Calculate Mr Tshabalala's annual taxable income.

Calculate Mr Tshabalala's medical tax credit for the 2024 financial tax year.
Calculate Mr Tshabalala's monthly tax contribution.

Mr Tshabalala’s mother is 65 years old and earns a taxable income of R10 321
per month. Mr Tshabalala claims that his mother is earning below the tax
threshold for 2024, thus she is not supposed to contribute towards personal
income tax.

Verify, showing ALL calculations, whether his statement is valid.

Show how the fixed amount of R179 147 in tax bracket 5 was calculated.

Mr Tshabalala did some research on the weight of the workers at Box Fashion. His
results are represented in the box-and-whisker plot in ANNEXURE C. Study the
diagram in ANNEXURE C and answer the questions that follow.

4.2.1

4.2.2

423

Write down the median weight of the female workers.
Explain the meaning of the value 50 in the box-and-whisker plot for females.

Mr Tshabalala stated that the interquartile range of the male workers is double
that of the female workers. Determine the difference between the interquartile

range of male workers and female workers and decide whether his statement is
valid.

()
3)
(7

€)
€)

2)
(2)

(4)

P.T.O.
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4.3  Mr Tshabalala bought his wife a new
Renault Kiger. This car is financed by
Standard Bank as he could not afford to
buy the car for cash. Standard Bank
allowed him to pay for the vehicle on a
hire purchase agreement with a deposit of
15,8%. The cash price of the Renault
Kiger is R319 999.
Use the information above and ANNEXURE D as well as ANNEXURE E to answer the
questions that follow.
4.3.1  Calculate the deposit amount for the Renault Kiger. (2)
4.3.2  Calculate the instalment per month (A), for this vehicle. (5)
4.3.3  The service fee for Standard Bank is VAT inclusive. In 2018 the service fee was
the same amount as on the statement. Calculate the VAT exclusive amount of the
service fee in 2018. (2)
4.3.4  Verify the closing balance of R443 057,36 on 20/12/2023 in ANNEXURE E. (2)
[40]
QUESTION 5
5.1 | Mr Pillay’s daughter plans to get married in two years, and he has decided to

invest money into an Allen Gray account so that he can save towards the wedding.
He decides to invest R13 000 into this account. Allen Gray offered him 17,59%
p-a, compounded half yearly, for a period of two and a half years.

NOTE: An annuity is a form of insurance or investment entitling the investor to a series of

annual sums.

5.1.1  Calculate the total amount that Mr Pillay will have in his account after two years.

5.1.2  Mr Pillay’s daughter asked her father to only pay for the wedding with the
interest accumulated on the investment and keep the capital amount invested.
Calculate the amount that Mr Pillay paid towards the wedding.

(6)

2)

P.T.O.
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Mr Pillay investigates the production of gold across the globe to determine the best options
to invest his money. He found the following information given in ANNEXURE F. Study
the gold production information in ANNEXURE F to answer the questions that follow.

5.2.1 Show how the total production, rounded-off to 3 200 tonnes, was calculated.

5.2.2  Determine the percentage that Mexico contributed to the global gold production,
rounded-off to the nearest percentage.

5.2.3  Identify the gold production for Australia and South Africa. Why do you think the
gold production in Australia is so much higher than in South Africa?

Jason conducted a study on resting heart rates across age groups from 10-year olds up to
60-year-olds. He represented the data in the graph that is shown in ANNEXURE G. Study
ANNEXURE G and answer the questions that follow.

5.3.1  Which age group has the highest mean heart rate?
5.3.2  Determine the probability of one of the participants being 65 years old.

5.3.3  Explain the trend of the graph that represents the resting heart rate for men in the
age group 10 to 60 and give a possible reason for this trend.

TOTAL:

END

(2)

3)

€)

2)
2)
(4)
[24]

150
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Codes Explanation

M Method

MA Method with accuracy

CA Consistent accuracy
A Accuracy
C Conversion
D Define
J Justification/reason/explain
S Simplification

RT/RD/RG Reading from a table/graph/diagram/map/plan

F Choosing the correct formula

SF Substitution in a formula
[0) Opinion
P Penalty, e.g. for no units, incorrect rounding-off, etc.
R Rounding-off

NP No penalty for rounding-off OR omitting units

KEY TO TOPIC SYMBOLS:

F = Finance; DH = Data Handling; P = Probability
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QUESTION 1 (AO — Answer only: full marks)
Q ANSWER EXPLANATION MARKS | LEVEL
1.1 | 1.1.1 | Gross income is the income Sally 1A income received
receives from the Johannesburg 1A before deductions were
Zoo before any deductions are made Fl
made. vV'A
(Accept any sensible/logical
answer) 2
1.1.2 | Twenty-six thousand one hundred | 2A for value in words F1
rand v v'A (2)
1.1.3 | July vvVRT 2 RT correct month Fl
Accept: 7" month (2)
1.1.4 | A=R1200 + R2 186,78 + IMA adding all the correct
R1390 v MA values.
= R4 776,78 VA 1A correct answer -
B = R26 100 — R4 776,78 vMCA | 1 MCA subtract A
= R21 323,22 vCA 1CA answer (4)
VA v A 1A for 32 years Fl
1.1.5 | 32 years and 1 month 1A for 1 month 2)
1.1.6 | Pay as you earn v'V'A 2 A correct answer
Fl1
2)
1.2 | 1.2.1 | Swedish Krona v'v'A 2A answer (2) F1
1.2.2 | R1,82: 1 Krona
R28 573:?Krona
IMA division F1
_ R28573 VMA 1A correct answer
R1,82
= Krona 15 699,45 v A 2)
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Q ANSWER EXPLANATION MARKS | LEVEL
1.3 |131 |GV VA 2A correct answer (2) DH1
132 |BVvVYA 2A correct answer 2) DHI1
133 |Dv VA 2A correct answer 2) DHI1
134 |FvVvA 2A correct answer 2) DHI1
1.4 1.4.1 | Bar graph vV A 2A correct answer (2) DHI1
142 |Level7vv A 2A correct answer ) DH1
[30]
QUESTION 2
Q ANSWER EXPLANATION MARKS | LEVEL
1,15
1A answer
= R375,65 VA
OR IMA multiply and F2
Cost excluding VAT = R432 x 22 vma |d1Vide
11‘5/ 1A answer
= R375,65 v A )
2.1.2  |Total cost = Venue hire +
(a) (Number of Adults x R432) +
(Number of Pensioners X 60% X
R432) + (Number of children X 25% X
R432) + (Number of children above 5 X
R432)
OR
Total cost = Venue hire +
(Number of Adults x R432) +
(Number of pensioners X R259,20) +
(Number of children x R108)
Cost on a Thursday: F3
Venue hire = R0 IMA correct
Pensioners = R515 x 2 x 60% vMA | multiplication by 2 and
=R618 VA 60% _
Children under 5 years (adults) 1A answer pensioners
= 4 X R515 X 25% 1A answer
—R515 VA 1CA cost for guests
Guests above 5 years = [(42 X 2) + above 5 years
6] x R515 1CA total cost Thursday
= R46 350 v'CA
Total cost = R618 + R515 4+ R46 350
= R47 483 v'CA
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Cost on a Saturday:
Venue Hire = R15 650
Pensioners = R432 X 2 X 60%
= R518,40 v'CA 1CA cost pensioners
Children under 5 years = 4 X R432 X 1 CA guests above 5
25% years
= R432 1 MCA adding all
Guests above 5 years (adults) values.
= [(42 X 2) + 6] X R432
= R38 880 vCA
Total cost = R15 650 + R518,40 +
R432 + R38 880 vMCA
= R55 480,40 v'CA
1CA total cost
Total savings:
Savings = R55 480,40 — R47 483
= R7 997,40 v'CA 1CA answer (10)
2.1.2 vMCA VvRT CA 2.1.2(a)
(b) Total refund = R47 483 X 90% 1MCA total cost
= R42 734,70v'CA IRT multiplying with F2
90%
1CA answer 3)
2.1.2  |% savings = CA 2.1.2(a)
(c) R7997.40 x 100 v'SF 1SF substitution in
R55 480,40 formula F2
= 14,41% v'CA 1CA answer
=10% vR IR rounding down (3)
2.1.3 | The venues are not as busy during the 20 correct explanation
week because to people are working. The
demand is low thus the venue tries to get F4
more people to book by decreasing the
cost of renting the venue v'v'O
(Accept any logical/sensible explanation) (2)
2.2 2.2.1 vMA IMA correct kilolitres
60 x R29,93 = R1 795,80 v A and correct rate
90 x R52,44 = R4 719,60 1A answer 1% category
150 x R89 = R13 350 v'CA 1CA 3" category answer
150 X R114,44 = R17 166 1CA last category F2
521 x R179,47 = R93 503,87 v'CA answer
Total cost = R130 535,27 v'CA 1CA total cost
10 conclusion
His statement is INVALID v'O (6)
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Q ANSWER EXPLANATION MARKS | LEVEL
2.2.2 |To reduce water consumption, the more|20 opinion
water you use, the more you will pay. v'v'O B4
(Accept any logical/sensible answer) (2)
223 1A numerator
P(Rate less than R30) = E vVAVA 1A denominator
— 04 vCA ICA probability as a P1
decimal
AO 3)
[31]
QUESTION 3
Q ANSWER EXPLANATION | MARKS | LEVEL
3.1 |3.1.1 |Gauteng v'v'RT 2RT correct answer (2) DH1
3.1.2 16497 100 + 2899900 + 14 273 800 + IRT all values correct
11 067 500 + 5 774 600 + 4 442 500 + IMA adding values
1213500 + 3854 400 + 6 508 700 DH2
v RTv'MA Note:
= 56522 000 NO mark for answer (2)
3.1.3 |4 ::2512;2?)‘;0” % 100 vM }EIT correc;[ Vfalue
concept o
=7,9% v'CA percentages DH2
1CA final answer (3)
3.1.4 |Western and Eastern Cape v'RT IRT for both provinces
The difference is: }1(\:4A81(11bgacting
6 508 700 — 6 497 100 vM Herence DHA
=11 600 v'CA
Because the numbers are so large, it will be | 1J explanation
possible to have the same percentage. v'] 4)
3.2 |3.2.1 |Discrete data v'v'A 2A correct answer (2) DHI1
3.2.2
22| 26| 28] 30| 32| 33| 34|34 | 34| 34
35| 37| 38 42| 43| 45| 46[ 48| 49| 52 i/[/[A al‘fangmfg 0
56| 65| 69| 73| 75| 79| 83| 84 | 88| 92| | 1\ ff’:ﬁp;nzwff an DH2
vMA
Median = 222 v M
Median = 44 v'CA AO 3)
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Q ANSWER EXPLANATION MARKS | LEVEL
323 {4853 = 24446+ +A g M concept of mean
30 L, M multiply by 30

48,53 x30=A+1430vM M subtract 1 430 DH 3

14559—-1430=AYM CA final answer

A=26vCA NPR 4)

3.3 | Range =2,04 - 0,82v'M M concept of range

Range = 1,22 m v'CA CA range value

VM IM rpultiply/divide by 2
0,82 %2 =1,64mvCA CA final answer

) ) J justification
His statement is INCORRECT. vJ
OR
DH3
Range = 2,04 - 0,82v'M
Range = 1,22 mv'CA
— 1,222 m ‘/M
=0,61 m v'CA
His statement is INCORRECT. vJ
®)
[25]
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QUESTION 4
Q ANSWER EXPLANATION MARKS | LEVEL
4.1 |4.1.1 |Income = R32542,80 x 12 1A for annual gross income
= R390 513,60 VA IMA multiplication of both
vMA percentages
Pension = 7,5% X R32 542,80 x 12 1CA pension fund
= R29 288,52 vCA contribution
OR 1MCA subtraction
1CA final answer F2
Pension = R390 513,60 X 7,5%
=R29 288,52
vMCA
Total = R390 513,60 — R29 288,52
= R361 225,08 vCA (5)
41.2 |Medical Tax Credit 1RT for both values
= R728 4+ R728 + (R246 x 4) VRT 1CA monthly value
v CA 1CA annual value
=R2440x 12 F2
= R29 280 vCA
3)
4.1.3 vRT v'SF CA from Q 4.1.1 and
Tax = R42 678 + 26%(R361 225,08 — |[Q 4.1.2
R237 100)
=R42 678 + R32 272,52 V'S 1RT correct tax bracket
=R74 950,52 vCA 1SF substitution into formula
1S simplification F4
vMA 1CA tax before rebates
= R74 950 — R17 235 — R29 280 |IMA subtracting both rebate
=R28 435,52 and medical credit
IM dividing by 12
= R28 435,52 - 12 vM 1CA final answer
= R2 369,63 vCA (7)
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Q ANSWER EXPLANATION MARKS |LEVEL
4.1.4 |Annual income = R10 321 x 12 vMA IMA multiply/divide
= R123852 VA by 12
Her income is below the tax threshold of|1A correct answer
R148 217, thus his statement is valid. v'J
1J conclusion
OR
R148 217 k2
= vMA
12
=R1235142 VA
Her income is below the tax threshold of
R148 217, thus his statement is valid. v'J
3)
4.1.5 vRT VSF IRT correct tax bracket
Fixed = R121 475 + 36%(673 000 — 1SF substitution max
512 800) value. F2
= R121 475+ R57 672 V'S 1S simplification
= R179 147 3)
42 14.2.1 |56kg vV A 2A correct answer DHI
(Accept 57 kg) 2
4.2.2 |50 represents the lower 25% of the data v'v'J 2] justification/
OR explanation
It is 25% of the data represented.
OR DH4
It represents 25% of the data.
OR
50 represents the lower quartile/first quartile (2)
4.2.3 |Male =87 — 61 1A IQR of males
Male = 26 kg VA Accept calculations
with 88 and 62
Female = 68 — 5‘9 1A IQR of females
Female = 18 kg v'A Accept calculations DH4
with 67 and 50
Difference
26 kg — 18 kg =8 kg v'CA 1CA difference
His statement is incorrect. v'J 1 justification/
conclusion (@)
43 14.3.1 |Deposit = 15,8% X R319999 vMA IMA multiplying % "
= R50 559,84 VA 1A Answer 2)
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ANSWER EXPLANATION MARKS | LEVEL
4.3.2 |Time of loan = 60 months + 12 = 5 years v'A | 1A answer number of
Interest = R269 439,15 x 13,45% X 5 vMA |years.
=R181 197,83 1MA simple interest
formula
=R181 197,83 + R269 439,15 1CA for addition to
=R450 636,98 v'CA principal loan amount
IMCA dividing by 60
Instalment = R450 636,98 +~ 60 v MCA 1CA answer
= R7 510,62 vCA
OR F3
vRT vRT
R7 579,62 —R69,00 vM
=R7 510,62 vv'CA
OR
vRT vRT
Instalment = R450 636,98 ~ 60v'M
=R7510,62vv'CA €)
4.3.3 | VAT exclusive = R69 + 1,14 vMA IMA dividing by 1,14
= R60,53 VA 1A answer
OR
VAT exclusive = R69 X~ vMA
= R60,53 VA F2
OR
=R69 x — vMA
114
=R8,47
~ R60,53 — R8,47
=R60,53 VA
(2)
4.3.4 |Closing balance IMA subtracting service
= R443 126,36 — R69 vMA v RT fee.
= R443 057,36 IRT both values
OR
VRT F1
= R443 057,36 + R7 579,62 vMA IMA adding total
=R450 636,98 amount due to total
balance carried forward
1RT both values 2)
[40]
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QUESTION 5
ANSWER EXPLANATION MARKS |LEVEL
5.1 |5.1.1 |Timeframe = 2 years X 2 half = 4 halves 1A number of
v A calculations.
1st half = R13 000 X == v MA IMA Congf‘jpt of
= R1143,35 + R13 000 T amewer first half
= R14 143,35 VA '
2nd half = R14 143,35 x ~=
= R1 243,91 + R14 143,35 1CA answer 2™ half. o
= R15 387,26 vCA
3rd half = R15 387,26 X~ oA -
= R1353,31 + R15 387,26 answet > Hat
= R16 740, 571‘7/5C9‘;: 1CA answer 4™ half.
4th half = R16 740,57 X — Accept answers with
= R1472,33 + R16 740,57 8,795% calculations
= R18 212,90 vCA (6)
5.1.2 |Interest = R18 212,90 — R13 000 vMCA CA 511
= R5212,90 vCA IMCA subtracting Fl
principal value
1CA answer 2)
52 152.1 |Total =190 ton+ 170 ton + 120 ton +
100 ton 4 80 ton + 60 ton + 380 ton +
130 ton 4+ 100 ton 4+ 90 ton + 140 ton +
90 ton 4+ 90 ton + 60 ton + 320 ton + IMA adding all correct DH1
70 ton + 300 ton + 750 ton vMA values
Total = 3 240 tonnes v'A 1A answer
=3 200 ton 2)
522 |gp = 200TVRT _ 100 vM RT both correct values
3200T M concept of
=3,125% percentage
=3vCA CA rounded answer
OR DH2
0 — 100TvRT % 100v'M
3 240T
= 3,086%
=3 v CA 3)
5.2.3 |South Africa 90 tonnes v'RT IRT South Africa
Australia 320 tonnes v'RT 1RT Au§tra}ia
If you look at the information on the annexure, 1J justification
South Africa's production is much smaller than DH4
Australia. If you compare the production of the
countries, South Africa's production will be able
to fit almost 5 times into Australia. Australia has
more resources available than South Africa. v'J 3)

10
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53 |5.3.1 |40 years VYA 2A correct answer (2) DH1
5.3.2 |Impossible OR 0 v'V'A 2A correct answer (2) Pl
5.3.3 |The graph increases until 40 v'A and then 1A increase
decreases from 40 to 60. v'A From 10 to 20, 1A decrease
most boys are active, and they exercise often. |2J justification
From 20 to 40, men are active, but not as fit as DH4
they were between 10 and 20. From 40 to 60,
men are not as active as they should be, thus
they do not work as hard as they did from 20 to
40. v'V] 4)
[24]
[150]
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